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TI-84+ GC 37 Finding a Partial Sum, also known as Evaluating a Finite Series

Objective:  Use the sum operation from 2™ function LIST to calculate sum of a sesmsence

LIST will do many things, and we'll.use both the sum.sum( and the sequence seq( operations fo
evaluate a partial sum, also called a finite series.

sum( requires only one input, but it must be a list .sum( adds all the items in the list.
seq( requires four inputs:
1. expression to be evaluated,
2. the index variable used in that expression,
3. the starting value of the index variable, and
4. the ending value of the index variable.
These four are listed one after the other, in order, separated by commas.
At the end, we close both sets of parentheses, one for sum( and one for seq(.

Example 1: What does sum(seq(1/n, n, 1,4)) > frac do?

Answer. sum( adds the the four terms found by seq(, then it converts to fraction. 1+; + ;: +£ |
Example 2: Find S, when a 2+23n
n

Note: This same question could be asked using summation or sigma notation:

4 4 .
Find S, Z 27 3 , or just find or evaluate > 2 :_31 .
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TI-84+ GC 37 Finding a Partial Sum, also known as Evaluating a Finite Series page 2

Now we enter seq(, which is under the LISTS-OPS menu.
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Now we put the four inputs, separated by commas, and close the parentheses twice.
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9.997222222

To make this result a fraction (and an exact answer), use MATH > Frac.

2 NUM CP¥ PRB
Q_Elrk!r*ac
rdec
3
4:3J(
o8
6 fMing

N xww

i

TlfMax<

Copyright 2011 by Martha Fidler Carey. Permission to reproduce is given only to current Southwestern College instructors and students.

sumisea( (2+313 -]

X H ?4:‘)
9. Q97222222

Ans*Frac
65572

ENTER

ENTER

Answer:

655
72




. 5 .
b) i Q= 2’5*2q4 2’ = B+ier 33 = lfé‘:»

4 7t sum(seq(ar, T,2,6))
CL) Z A3 = =2 4 -2 + =
l.f-

¥ t Trets =75 | o [F125]

PR

GC Lim (6eq-( (x-2)/4, T, 0, 4

13 .
S
) A 3 = ?)/L'{' 32,‘\— 3\* + 3% = ’?)60

Gc- Sum(ée%, (3"1)1)2,5).)

@ Welle usi\m;a_ Suvmmnoalion wiotation
@A) BEer Axiad g

NOJ‘Q W%?QLS 9£ 3 — add 3 exch-hwe
means 3 divwes dex , AkA
aritamehc sequence 34+ (0-1)-3
’ T 3433
= 3L

Note . powerzA o{Z 2 i denom
Warans & raised 4 ndex oty .
ﬂfwd‘hr_’ saclu,e/nu., é)'(;&) - (Tip:)

S R IV TR SO H N \
Ce %4’10*\9- I%‘\"{C

T de hoy
Node: wuibiples D(l >

Means L Hmes \ndex
Neither arilunehe nor ﬂeome}nc,

Note - val‘ﬁ?les of B means
5 Jives index

orihvmehc 54 (— -5
= b4 -5
= 5

Wote . Rews frosz of pPowers O‘Q 3 .
3 vaised Yo tndex v Aenomwvx:hs?/
comerne seqwence. LAV b2 4 - L
3 1 ) C'a) ’“G?ﬁ S




Mot YO i

@ Contin uﬁcj )

N +‘e A @tkwn¢+ s
afS pewer o@\‘zﬁ——l)t,e
VVva’h‘@\c et 4 s
4 Farnes :
I\‘»e‘—hker GIJ'(-’H\VV\&"'\C'.. vaoTr—
ﬂevw»ej-ﬂ'a . -

Note. perfeck seguores,
- offeet b‘é}. b

eidaer ﬁxi"iﬂ’\“" ehe o O‘Fo vaehn e

ND‘i‘Z: .',loi(ﬁ -] Q/‘LCL\ ""Flr'Y\e’
Mmeans ddd 30«"3 4o ay

a,wW metic $ zc‘we e

Noke : muthply by L
.ea,cj/lfhw W:gtnf) war oﬁ %}

Vv -3
QA (—g

&eo meha o Seﬂumcg,




Matin 70

@ LOvite @ USinoy ot al suwa werotion .
40 DQ 5,; when a=3n S QC(\A,\\I(LQ.JLV\/\’ A _& 3L or Zdﬂ
) =1 vi= |

an

o) Sg when Gy = ;;.Jn

" d) S when an=5n

e) Oz when on= |

)
|

!E \4)
DS, when an= G
n

) S when =G
!

Nete. LOL\E‘«%@ co wld have mubh o’e s wers C endivig ov how %w
offset Mre mdex O\Mc\/g-( “ -*Hae SWHV\Q,W e:lng, Va_(/ues

Yhe \W\o\'@q ) n @, Yre ndex wust slaet Witk 1

Eyrvas

Wrike ™ Sumiemativon  wokauow

@ loroy 24+ 9% 4 5
\\Qf? + 4

Note: constant 5
O\)\/\a, Powﬁrs 0*\: 2 N

%eowf\’vio Sﬂ’,ﬁvtﬂ,‘v\cb \D (__}5-

Since. (O= 5.7

5-(2)- (‘%ﬂ' ‘




 Makh Yo
Cortinued

@ eHr A +TF & F

gCovnd'V;o =) U2 N € 5o
. 3 .u'\ T v
fp’.)(,\a =731 = 7.8
i 3"

Note. constaunt &
Powers of3 i ALnoW\Rv\ouh»/

gesmenn sequence- Z(5)

Note ©  ons tant ::‘_}—
PDMO“: 0w dewnemiviedo.

effset 52,3
esvnetvic Seguence. ,
2 00 [} C“'f‘f Lo+ IO‘W_ ; 27
'T{ﬁ) - = =z10)
@ A+ G+ Lo Iy 4
- A L¥.r A2 36 Note: Add o €ach Hwme
Z 2 —F“f(f\r‘o stz aﬁ("-se-k bg,l
A=A avidanehc S equence
3
PRSP EL Listnloude
-
i i -3, combine lLke Yenmns.
yex
@ Ly Uy g Lor 3% * 206+ KA
hw(}be'h (X,#"I—}’e\m(;s’\b

Vo 6@0 mehnc.




11.3.21 Write the series with summation notation.

4+8+16+32

Let the sum start with i = 1. Where does the summation end?

s

i=1

What is the general term for the summation?
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11349 A pendulum swings a length of 38 inches on its first swing. Each successive swing is _196 of the
T preceding swing. Find the length of the sixth swing and the total length swung during the first six
swings.
The length of the sixth swing is [ | in.
(Round to the nearest tenth as needed.)
The total length swung during the first six swings is | | in.
(Do not round until the final answer. Then round to the nearest tenth as needed.)
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